[ Efficiency vs vertpos |
- 0.2

+—

Q0.1 e roseenees UURRR
2 16k 5 5 ;
e S e

o -
50.14_—
Q
5 0.12
0.1
0.08H----
0.06
0.04
0.02

q

0.8

Ratio

0.6

o e |

102 100 1 10 02
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3_lowPT

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

q

S | R 1
oafl---i|-+- AL ]+
-30 -20 -10 0 10 20 30
TP vert z (cm)

ettici

Ratio

T

[ Efficiency vs. sim PV z |
N 1.2

e S o

efficiency vs Sim. PV

I I

Ratio

-10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


